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F=15kH, P=6 xH, M =51 kHwm, cosa = 0.8.

N 3
F=5xH, P=1«xH, M =3 kHwMm, cosa = 0.8.
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F=15kH, P=2kH, M =18 kHwm, cosa = 0.8.
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F=10«kH, P=3 kH, M = 28 kHwm, cosa = 0.8.
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F=20kH, P=1«kH, M =98 kHwm, cosa = 0.8.

3amaua S31.20.

F
of 1
2
D 3
A
z I )Ecgg
=z P /
1,3 6 3

F=5xH, P=3«H, M =17 kHwm, cosa = 0.8.
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F =25kH, P=4xH, M = 45 kHwm, cosa = 0.8.
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F=5xH, P=4xH, M =16 kHwm, cosa = 0.8.
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F=20xH, P =4 kxH, M = 109 kHwm, cosa = 0.8.
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F =10 kH, P =3 kH, M = 6 kHwm, cosa = 0.8.

3amaua S31.31.

Bf P? C
/ } 3
hra
A 2
M) X
Fa 3 5 3

F=5xH, P=3xH, M =14 xHwm, cosa = 0.8.
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$31 OTBeTHI.
KoHCcTpyKIMS U3 MJaCTUHBI U YToJIKa

Ne | Xa| Ya | Rp | Re
1 |3 -43 | 32 19
2 | -49 | -48 | b7 -60
3 |8 -43 | 36 | 20
4 |7 -4 -3 -5
5 [-201]22 |-25 |26
6 |4 7 -10 | -16
7 |4 |14 |-12 |-8
8 -3 -4 4 7
9 |4 -1 |6 8
10 | -34 |69 | -54 |11
11| -4 104 | 84 32
12 1-6 |33 |-24 |-2
13|11 54 | -b7 | 12
14 |2 -8 |4 2
1512 |15 | -8 8
16 |-7 |6 -2 -3
17 | -9 11 8 17
18 |14 |-12 | -3 -6
19 |-18 |22 |10 -1
20 | 5 -6 | -6 -9
21 | -12 |7 4 8
22 112 | -38 120 |8
23 |-18 | 17 | 10 14
24 | -43 | 117 | -105 | 23
25|11 |12 |9 15
26 19 -46 | 49 | 11
27 |22 |66 |56 |50
28 | 4 32 |24 16
29 | 2 14 |-12 | -6
30 | -9 27 | 24 17
31 | -12 | -11 |5 8
32 |1 -12 115 -2
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